
 
 

2a.  𝑃𝑛 : Net Photosynthesis rate (µmol/m²/s) for an open system.                                                                                    

𝑃𝑛 =  −𝑊 ×  𝐶𝑜 − 𝐶𝑖 =  −2005.39 ×
𝑉 × 𝑃

𝑇𝑎 × 𝐴
 ×   𝐶𝑜 − 𝐶𝑖   

 Where 𝐶𝑜 𝐶𝑖 : outlet (inlet) CO2 concentration (ppm or µmol/m²/s) 

 

2b.  𝑃𝑛 : Net Photosynthesis rate (µmol/m²/s) for a closed system.                                                                                                                        

                                        𝑃𝑛 = 120323.35 ×  
𝑉 × 𝑃 × Δ𝐶

Δ𝑡 ×  𝑇𝑎 × 𝐴
= 𝑊 ×  Δ𝐶 

 Where Δ𝐶: CO2 decrement form the initial reading (µmol/m²/s)  
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